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I.  Answer any six questions from the following :

(1)
(2)

(3)

(4)

Explain the types of scale of measurement with example.
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Give the meaning of measurement and evaluation and elarify the difference

between measurement and evaluation.

Give the meaning of statistics and explain the importance of statistics 1n

education.

Find out mean, median and mode from the following frequency distribution :

Class 0-9 | 10-19 | 20-29 | 30-39 |- 40-49 | 50-59 | 60-69 | 70-79 | 80-89
Frequency | 2 3 8 12 25 12 8 5 2
(5) Find out standard deviation and ce-efficient of standard deviation from the
following frequency distribution :
Class 0-10 | «10-20 [“20-30 | 30-40 | 40-50 | 50-60 | 60-70
Frequency | 10 15 25 25 10 10 5
(6) Find out quartile deviation and co-efficient of quartile deviation from the
following frequency distribution :
Class 10-19 | 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89
Frequency 2 2 10 20 23 18 11 9
(7) Find out Correlation from the following data :
X 12 | 18 [ 16 | 15 | 12 | 20 | 14 | 15 | 16
Y 12 115 (14 (18 | 16 [ 14 [ 15 | 12 | 15
(8). Find out Rank correlation from the following data :
X [39] 65 |62 |9 |8 |75]| 25|98 |36 78
Y |47 | 53 | 58 | 86 [ 62 [68 | 60 | 91 |51 | 84
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(9) Give the meaning of correlation and clarify the types of correlation of scatter
Diagram Method.

(10) Give the meaning of normal probability curve and clarify its characteristics with

diagram.
(11) Find out P70 from the following frequency distribution
Class 1-10 | 11-20 | 21-30 | 31-40 | 41-50 | 51-60
Frequency 3 8 15 12 6 2
(12) Find out PR score 46 from the following frequency distribution :
Class 30-34 | 35-39 | 40-44 | 45-49 | 50-54 | 55-59 | 60-64 | 65-69 | 70-74 | 75-79
Frequency | 6 8 10 11 22 14 10 8 6 5

2. Answer any four of the following questions in short :
(1)  Which definition of statistics 1s given by Croxton and cowden ?
(2) State two merits and demerits of mean.
(3) 8.16,4,20,15,12,7, 10 — find eut median.

(4) State the measurement of central tendeney. Which 1s the superior measurement of
central tendency ?

(5) State two characteristics of correlation.
(6) State the interpretationof r=—1 and r = 0.
(7) What 1s skewness 7 State the types of skewness.

(8) State the interpretation of P30=65.
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